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VI Semester B.A./B.Sc. Examination, May 2017
(CBCS) (Semester Scheme)
(Fresh) (2016-17 and Onwards)
ECONOMICS - VI
Statistics for Economists (Optional)

Time : 3 Hours Max. Marks : 100

Instructions: a) Answermustbe completely either in Kannadaor in English.
b) Answer should be precise.
¢) Answers of Part A should be continuous.

PART-A

Answerany 10 sub-questions. Each question carries 2 marks. _ (10x2=20)

1. a) SeIRoTIFS VT 20T ?
What is direct interview method ?

b) ﬁ&aﬁamiﬁ’eéﬁ dema&%ﬁéozﬂ:ﬁeaﬁ 2 SNUTREUR TRB.
What are non-dimensional diagrams ? Give example.

c) HWNT TIoINN 208N ed8 ATIRO ForoeRC0.
Calculate the arithmetic mean for the following data
X =24, 18, 25, 10, 6, 5, 14, 48, 5, 30.

d) 3N Seposnent omd whe) Tt rOmRos BOTRORRCID.
Calculate Range and its coefficient for the following data
15, 22, 34, 52, 84, 28, 46

g) HrEuBoH NOBoT TSR 9 LR RIFI0ER RRS, LIBAU0.
What is coefficient of variation 2 Write the formula of coefficient of variation.

f) R@Rowoy NomoEr = +1 wﬁ%ﬁmgmd Beaauss, O3k
For the correlation coefficient r = +1, draw a suitable scatter diagram.

g) osrcig AooRo X = 39.4 o8 GTM =407 3030 LEPE Z BoroEROW0.

If Arithmetic mean X = 39.4 and median M = 40.7, calculate mode Z.

P.T.O.
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h) %0308 Q0BT 7 0INTN TR &odwsodd Seadrs Zrobdodnnegs ?
What is Regression ? When will the two regression lines coincide each other ?
i) T3 o3desh ? T3 ab’ae%dsjgt BOTRROT0R CARNFTRTTR O aaaafﬁ@aigl AR
What s trend 7 Name any two methods of calculating trend value.
j) o’ OS8 B g ossth BrBr 3 2w o8 Homd Toneites 5080 AR,
Give reasons for consideration of Fisher index number as an ideal one.

k) Sm0as 2omtesd ? SmeEon U Fmnad QBN BROR.
What is sampling ? Mention two methods of sampling.

l) @6&5;0&:59‘_56%#3;5 amz#r{%fai.gt TAOA.
Name the methods of Hypothesis testing.

PART-B

Answer any 4 of the following. Each question carries 5 marks. (4x5=20)

2. 39N BT3B 2,08 BokOWEY QG £303NY e RS szgadaigt BETRITE, ‘Qtﬁi
%, demdgoi: TeT 3ped.
The following data represent items of expenditure of a family. Represent the data
ina pie diagram.

kT

L w0 | e | SR e | ddyus | svvead | sodeedons
ltems of Food |Clothing| House |Electricity| Savings |Entertainment
Expenditure rent

= (Sa.neQ) | 1400 | 700 560 280 350 210
Expenditure

(Rs.)

3. 3INS B 03nvn :o0RE ATaR0 LSRR mzéjaﬁsﬁo%ow RTIRO T BoROGROWD.
For the following data calculate firm’s average profit from assumed mean method.

g 0—1000 |1000- 2000 | 2000— 3000 |3000— 4000|4000 — 5000
Profit

Uud‘gab ﬁoz{ﬂaﬂeﬁ

ﬁc&% 6 25 35 20 15

No. of firms




A

4. 3N prEor o8 Zeedr T IO 0T FTRAD DV FomEWBOWO.

s
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For the following discrete series data calculate mean deviation from median.

X |12

16 | 20

24 | 28

32 |36 | 40

fl2

6

12

20 | 30

25 | 15

5

5. BINS TB08NN A0 087 B30 U3,08° HBA0w0T Mossaos BOT3EER0A00.

Calculate Spearman’s Rank correlation coefficient for the following data.

X |36

37|38

42 | a4

46 | 51|54 | 565

56

Y | 40

32 | 39

42 | 41

31|50 |52 | 46

55

6. 3N T 03NVt QO3B LS FOrERBOWD.
For the following data, calculate standard deviation.

X |10

16|20

25|30

35|40

F| 6

5

4

8 |7

8 -10

7. RRTR ATRO QRO FINT BeoTE ROIRO BV, B0rEI2RAUD.
Calculate the average value for the following data through Harmonic mean.

Cl|l2-

4

4-8

8-12

12-16

16-20

f 3

4

10

5

2

8. QROTTRT FAETTLID) T SoRTINRIFOD wbeﬁﬂmm ZaRERTE a’:owcsaﬁi Rrudos
RREBTLT TRUE TOLIL.
Through Index number formula test Fisher equation satisfies Time Reversal Test.

P

ART-C

e

Answerany four questions. Each question carries 15 marks.

9. 3N RS Roam, Feedrs WBTF T QUOR T VWS MOFITF TOBIEROWD.

(4x15=60)

Calculate Quartile Deviation and coefficient of Quartile Deviation for the following
continuous series data.

A

100-120 | 120-140 | 140-160 | 160180 | 180200 | 200220
Wage
FINFIT Fosd, 9 15 24 30 16 10
No. of workers
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10. $9Ns SeR03nen BorF RO AT UR0 RErowor romoos JormitRcod &%) Bwd
FOROIII WFFA. -

Calculate the Karl Pearson’s coefficient of correlation for the following data and
interpret the result.

X|45|70 |65 |30|90 |40 |50 |75 |85|60
Y |[35|90 |70 |40 |95 |40 |60 |80 |80|50

1. gnupbazsboddess Segosnen B s DgeRitions 2018033 TS @R FortRoDd.
For the given time series data, calculate trend value upto 2018 by the method of

least square.

st 2010 | 2011 2012 2013 2014 | 2015 | 2016
Year

Spepialy 40 43 42 39 40 37 35
Production

12. 39N Dmognert X shed Y Ry Y3 e X3 oorduriad Anoestnvia,

FomEHBROND TR FTHOWOG MITFROT I ToRILEOID.
For the following data calculate regression equations of X on Y and Y on X and
also calculate correlation coefficient r.

wolotTo30 2 (X) 10 12 15 23 20
Advertisement Expenditure
wnoats Sales (Y) 14 17 23 25 21

13. NS TRl CRRITT, TRT, TR YR THT WS :‘uaa%oﬁ R0 BRPED ﬁfazjoﬁmﬁ:ig_ Teds.
For the following data construct Laspeyer, Paasche and Fisher price index number
and quantity index number.

2012 2016

RTRN B T=Reo thS s rhe)
ltem Price Quantity Price  Quantity

M 20 8 30 10

N 50 10 40 8

O 40 5 50 12

P 60 20 60 16

Q 10 6 40 10




